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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

Qu. Answers Mark Part Marks 

1 (a) 11:14 1  

 (b) 50 2 M1 for (220 + 280) ÷ 10  o.e. 

 (c) 12 2 M1 for 21 ÷ (4 + 3) × 4 (or 3)  o.e.   

 (d) 280 3 M1 for 0.35 × their 500 (175) 

M1 dependent × 1.60 

 (e) 240 2 M1 for dividing 264 by 1.1  oe     

2 (a) (i) 4 1  

  (ii) 5 1  

  (iii) 4.75 3 M1 for 1 × 2 + 1 × 3 + 17 × 4 + 12 × 5 + 6 × 6 + 3 × 7 
condone one slip then  M1 dependent result  

(190) ÷ 40 

 (b) 

n

n

+

+

40

3190

 2 SC1 for their 190 + 3n    

3 (a) Triangle drawn with co-ords at (1, 4), 

(4, 2), (4, 4) 

2 SC1 for 2 correct vertices or an enlargement sf 

2

1

 with wrong centre 

 (b) (i) ⎟
⎠

⎞
⎜
⎝

⎛ −−−

884

288

 2 B1 each row 

  (ii) Triangle drawn at (–8, 4), (–8, 8), (–2, 8) 

ft (i) 

2ft SC1 for 2 correct ft vertices.  Can also be 

correct regardless of (i)  

  (iii) Reflection   cao 

 

y – axis  or  x = 0   cao 

 

 

2 

B1 Independent of (i) or (ii)  

Extra transformations lose all marks 

B1 Independent of (i) or (ii) 

 (c) (i) Translation   B1 Extra transformations lose all marks 

 

⎟
⎠

⎞
⎜
⎝

⎛

−

−

10

10

 o.e. 2 B1  

  (ii) Rotation  

(0, 0) 

90° clockwise  oe 

3 B1 Extra transformations lose all marks 

B1 Allow word origin for (0, 0) 

B1 Allow – 90° or 270° (anti-clockwise) 

 (d) ⎟
⎠

⎞
⎜
⎝

⎛

− 01

10

 2 B1 each column 
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7 (a) (Mode) = 11 

(Median) = 12.5 

 

(Mean) = 12.8 (0 ….) 

1 

2 

 

3 

B1 

M1 for evidence of finding mid-value  

e.g. (126 + 1) ÷ 2  oe, (condone 126 ÷ 2)  

M1 for correct use of Σfx (allow one slip) 

M1 (dependent) for ÷ 126 

 

 (b) (i) 15, 27, 30, ……. 3 B1 B1 B1 

 (ii) 9.67 (9.674 to 9.675)  cao        www 4 4 M1 for mid-values, condone one error or slip 

M1 for use of Σfx, with x’s anywhere in 

intervals and their frequencies (allow one slip) 

M1 (dependent on second M) for ÷ 126 (or 

their Σf)                       

isw any conversion into hours and minutes    

8 (a) 40 ÷ 10 and 12 ÷ 6 (or 12 ÷ 3) and  

6 ÷ 3 (or 6 ÷ 6)   oe 

4 × 2 × 2 = 16 reducing (seen) to 16 

E2 M1 Allow drawing for M1 but must see 

reaching 16 for E2                        

Reaching 16 without any errors or omissions 

SC1 for 

(b)their 

61240 ××

 even if = 16  

or 4 × 2 × 2 = 16 or 4 × 4 × 1 = 16 without 

other working 

 

 (b) 180 1 

 

 

 (c) (i) 23 640 (allow 23 600) 2 M1 for their 180 × 8 × 16 + 600 

  (ii) 23.64 (or 23.6)        ft 1ft ft their (i) ÷ 1000 

 

 (d) (i) 216 2 M1 for (10 × 6 + 10 × 3 + 6 × 3) × 2   oe 

  (ii) 8.64 3 M1 for their (i) × 16 × 25 

M1(indep) for ÷ 100
2

 

Figs 864 imply M1 only 

 

 (e) 75.3 (75.26 to 75.33….) 3 M1 for 
3

5.0π

3

4

×  (0.5235..) Implied also by 

104.7…. 

then M1 (dep) for their (b) – 200 × their 

3

5.0π

3

4

×  must be giving positive answer 

 

 (f) 0.842 (0.8419 – 0.8421) 3 M1 for 2050)π

3

4

(
3

÷=r   

then M1 for 

π

3

4

2050 ÷

 (0.5966 to 0.5972)  

After 0 scored SC1 for 

3

π

3

4

50

 (implied by 2.29)  
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6 (a) 32.5         cao             www4 4 M1 for mid-values seen  

M1 for use of Σfx with x’s anywhere in each 

interval  

(10 × 15 + 30 × 30 + 20 × 45) 

M1 ÷ 60  dependent on second M1 

 (b) Histogram drawn 3 B1 Bars correct positions and widths – no gaps 

B2 Heights of bars 1, 1.5 and 2 (B1 for any 

two correct or for heights in the ratio 2:3:4) 

7 (a) 4.53 or 4.526 – 4.530…. 3 SC2 for figs 453 or 4526 – 4530 

If SC0, M1 for π × (figs 31)
2

 × 15 

 (b) 3.62 to 3.624   ft 2ft M1 for their (a) × figs 8  oe 

 (c) (i) 360 – 2 × 90 – 60      oe 2 E2 The 90’s and the 60 must be clearly 

justified. Accept in diagram.        

SC1 for 60 or two 90’s soi in correct positions oe 

e.g 360 ÷ 3 scores 0 

  (ii) 0.649 (0.6492 to 0.6493) 2 M1 for π × figs 62 ÷ 3 

  (iii) 7.53 (7.527 or 7.528….) 3 M1 for their (ii) × 3 

M1 (indep) for 18 × figs 31  

This M is spoiled by extra lengths. 

  (iv) 112.9  to  113   ft 1ft ft their (iii) × 15 

8 (a) 0.25, 8, 16 3 B1 B1 B1 

 (b) – 5, 4  2 B1 B1 

 (c) (i) 7 points plotted     ft 

Curve through all 7 points exponential 

shape 

P2ft 

C1ft 

P1 for 5 or 6 points ft 

ft only if exponential shape 

  (ii) 6 points plotted      ft 

Curve through all 6 points parabola 

shape 

P2ft 

C1ft 

P1 for 5 points ft 

ft only if parabola shape 

 (d) (i) 3.2  to  3.4  1  

  (ii) 0.3  to  0.4   and   2 2 B1 B1 

  (iii) 3.1  to  3.4  1  

9 (a) (i) –2.5  oe 2 M1 for 5(w + 1) = 3w 

  (ii) –3 or 1 2 B1 B1  (If 0, SC1 for y + 1 = ± 2) 

  (iii) 9.5  oe                               B3 M2 for 1526355 ×=+−+ xx   Condone one 

slip (sign or numerical) on left hand side 

or M1 for 

15

)2(3

15

)1(5 −

−

+ xx

  or better, 

condoning one sign or numerical slip.  
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7 (a) 1(.00)   4(.00)   11.1(1)   1(.00)   0.25 3 B2 for 4 correct, B1 for 3 correct 

 (b) 10 points plotted 

 

Correct shaped curve through 10 points 

(condone 2 points slightly missed) 

2 separate curves not crossing x-axis and 

not touching or crossing y-axis 

P3 ft 

 

C1 ft 

 

B1 

B2 for 8 or 9 points correct ft 

B1 for 6 or 7 points correct ft 

ft their points if shape correct – ignore anything 

between – 0.6 and 0.6 

Independent 

 (c) −0.85 to – 0.75  cao 

0.75 to 0.85   cao 

1 

1 

 

 (d) Tangent drawn (ruled) at x = 1.5 

– 3 to −2  

T1 

2 

Allow slight daylight 

Dep on T1 

M1 evidence rise/run dependent on tangent 

SC1 for answer in range 2 to 3 

Answer implies M but not the T mark 

 (e) (i) y = x − 2 oe 1  

 (ii) line ruled to cross curve 2 ft Dependent on (i) in form y = mx + c, m ≠ 0, c ≠ 0  

B1 for gradient ft
 

 or y intercept ft but again to 

cross curve at all possible points 

 (iii) 2.5 to 2.7 cao 1 Dependent on (e)(i) correct 

8 14.2 

 

 

 

 

 

14 

13 

3 

 

 

 

 

 

2 

1 

M1 for Σ fx  (10 × 11 + 8 × 12 + 16 × 13 + 11 × 

14 + 7 × 15 + 8 × 16 + 6 × 17 + 9 × 18 ) (1065)  

(allow one error or omission)    

M1dep for ÷ Σf (10 + 8 + 16 + 11 + 7 + 8 + 6 + 9)   

(75)  (allow one further error or omission) 

 

M1 for 37th, 37.5th or 38th  seen 

 

 (b) (i) 21, 30, 15 2 B1 for 2 correct 

 (ii) 20 20 10 (10) 

 1.05 1.5 1.5 (0.9) 

3 1, 1, 1 for each correct vertical pair 

 (c) )1.3(

1210

43125.210

=

++

+×+×

n

n

 M2 M1 for either numerator or denominator seen 

 
multiplying across and collecting terms 

 

(n =) 8                             www 4 

M1 

 

A1 

dep on linear numerator and denominator 

their (68.2 − 25 − 36) = their (4 − 3.1) × n 

 



5) 

6)

Page 5 Mark Scheme: Teachers’ version Syllabus Paper 

 IGCSE – May/June 2011 0580 42 

 

© University of Cambridge International Examinations 2011 

 

6 (a) (i) 45 < t Y 55 

 

(ii) 52.6 (52.63….. )       www 3 

1 

 

3 

Allow any indication e.g. 4
th

 interval 

 

M1 for 6 × 10 + 15 × 27.5 + 19 × 40 + 37 × 50 

+ 53 × 62.5 + 20 × 75 (= 7895) 

Allow 1 error/omission 

and M1 dep for ÷ 150 

 (b) (i) 40, 77, 130, 150 

(ii) Correct scales 

 6 correct plots ft
 

 

 

    

 

 Curve or ruled lines through the 6 

points 

2 

S1 

P3ft 

 

 

 

 

C1ft 

B1 for 2 or 3 correct values 

 

ft from (i) if increasing values. 

(35, 21) must be inside square 20 – 22 

but (55, 77) may be inside or edge of square  

P2 for 4 or 5 correct plots ft 

P1 for 2 or 3 correct plots ft
 

ft their points if increasing  

condone graph starting at (20, 6) 

 (c) (i) 54 to 55 

(ii) 18.5 – 22.5  

(iii) Their reading at 60 – their reading at 

50 

1 

2 

1 

 

B1 for UQ = 62.5 to 65 or LQ = 42.5 to 44  seen 

 

 

 

(iv) 

150

)2( 50atreadingtheir150 ±−

 oe 2 SC1 for 

150

2)50(atreadingtheir ±

 oe 

 

(v) If their (iv) is 

150

k

, then ft their 

 

149

1

150

−

×

kk

 

2ft In (iv) and (v), condone answers as decimals to 

3 sf 

Penalise first occurence only of 2sf decimals 

isw cancelling/conversion  

M1 for 

149

1

150

−

×

kk
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5 (a) 9.11, 4.25, 2, …, 2, 4.25, 9.11 3 B2 for 4 or 5 correct and B1 for 2 or 3 correct 

 (b) 12 points plotted 

Smooth curve through 12 points  

Two branches, neither touching y-axis 

5 P3, ft their (a), P2 for 10 or 11 points, P1 for 8 

or 9. 

C1 correct shape ft their points shape same. 

Ignore anything between – 0.5 and 0.5. 

B1 independent 

 (c) (i) x = 0 

(ii) tangent at –1.5 

 –3 to –1.8  

 

 

(iii) –1.7 to – 1.55, –0.7 to –0.55, 

 0.55 to 0.7, 1.55 to 1.7  

(iv) y = 2x drawn to meet graph twice 

 1 

 1.8 to 1.9 

1 

T1 

2 

 

 

2 

 

B1 

B1 

B1 

 

 

Dependent on tangent  

M1(also dep on T1) for attempt at rise/run or 

SC1 for 1.8 to 3 

B1 for 1 or more correct 

 

 

6 (a) (i) 5.8 

(ii) 4.6 to 4.65 

(iii) 2.35 to 2.5 

(iv) 172 or 171 

1 

1 

1 

2 

 

 

 

SC1 for 28 or 29 

 (b) (i) 72 to 76, 38 to 42 

(ii) Their correct Σfx ÷ 200 

 

 

 

 

 

 

 

 

 

 

(iii) p ÷ 2, q, where p, q are from (b)(i) 

 Histogram with two new columns of 

correct width 

 Two correct heights  

2 

4 

 

 

 

 

 

 

 

 

 

 

2ft 

 

 

2ft 

Must be integers. B1 either. 

M1 for 3 or 4 correct mid-values seen 2, 5, 6.5, 

8.5 

M1 for Σfx, ft their frequencies and x anywhere 

in interval, including boundaries 

36 × 2 + (72 to 76) × 5 + (38 to 42) × 6.5 + 50 × 

8.5   

M1 for ÷ 200 or their 200 (dependent on second 

M1) 

(74, 40 give 1127 then 5.635 (or 5.64 or 5.63)) 

Other pairs of frequencies from (b)(i) must have 

a sum of 114 to gain the A mark.  

B1 either ft  (ft their table) 

 

B1 

B1 ft (ft their freq. densities)  


